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MEEX B 07% 7 1R 28R 3R 4R 58 =5

EBRRER 8 6 1 0 1 16

HHEERER 10 14 7 4 0 0 35

BRARER 7 12 10 1 1 0 31

ARTRER 10 7 3 0 1 21

BEEEREEER 4 4 3 1 0 12

LB REEE 8 4 8 0 0 1 21

KEIREE 9 3 1 0 0 13
RAKEER 4 1 0 0 0 5

K HRER 17 9 10 1 1 0 38

EREEE 12 6 6 2 0 1 27

FETREER 55 46 20 7 3 0 131

EORGREER 3 7 2 2 0 0 14
HELLIEFEERER 2 2 2 0 0 0 6
XLEER 4 0 1 0 0 0 5
HEINFAFZETE [XE] 2 6 1 2 0 0 11
ShLUEER 3 5 2 0 0 0 10
BELAACEER 5 3 2 1 0 0 11
HEhAFEREER [(HE] 2 0 1 0 0 3
BpYDRREER 1 3 1 1 0 0 6
KEBEEXBDZ ELRBR 3 3 4 0 0 0 10
HEPYMNCHRER 16 9 11 2 1 0 39
WTHIELERER 2 6 3 1 2 0 14
VEHLYREER 137, 11 7 5 0 0 40
HEUOEEYDHEREER ) 2 0 0 0 0 3
E_hInAFEZELE [REFA] 3 1 3 0 0 1 8
ZREAACEETE 4 4 6 1 0 0 15
HhELAasr7rPal EEE [BEFA] 12 3 8 1 0 0 24
RETEAACRER 11 15 7 4 0 0 37

A1) —kREV XKk i dsEBIL—L4L 11 13 4 6 0 0 34
A —*kREVABEEIL—L [BIEEALACH] 1 2 2 5
A —kREVRBEESIL—L [k idsdtEE#] 17 4 5 26
A1) —kREVXEEESIL—L [EREAA ] 4 3 4 11
21—k REU Xk i d sIEEIL—L 30 6 9 0 1 1 47
EREISNLA LNE—RER 1 1 0 2

PRI T VEILREE 7 9 6 22
EEN=IE 1 1 1 0 0 3
BEICCLWA2REE 24 14 8 5 0 0 51

2 LEBHE 8 6 5 1 1 0 21

TtRESE 9 4 4 0 0 1 18
BhALRHEER 1 0 0 1 1 0 3
HEINEWTFUOVLRER 29 6 11 0 0 1 47

A=k REVXFHEHAEIL—L 9 8 1 1 0 19
FEERETSET v AEZHERME 5 6 5 2 0 0 18
MNZATREE 6 2 9 0 0 0 17

A —kREVXBAEEREROIL—L 11 3 1 0 0 15
HELRER 2 5 0 0 0 7
REETEX Y XE_HERELEE 22 18 12 5 1 0 58
BEERETRT Vv RE—_HENU—FE2HUE 13 4 6 5 0 0 28
TREEFER 24 16 6 7 0 0 53

LOER YUNTEER 18 8 12 2 1 0 41
HEHREE 7 11 6 24
S HAFREE 1 0 0 1
LHbEYREE 2 5 4 11
SDOERER 2 2 2 6
IAFYTa 9 3 4 16
BEN—L7I")—FI18HERE 1 2 0 3
B 5 Y > SEHET 0 0 0 0

2 —kRE U XBERFOIL—L 3 9 2 14
BHEARIIVEILETE 1 3 2 6
TF7oTa 8 5 3 16
ZRLLEYREBE 0 2 0 2
EEIVEILEEE 3 4 2 9
REERR Ty XHERR 3 3 0 6
SOEE_RER 3 1 0 4
Z2EE [BEEER] 1 1 2
ZTEE EE9HER] 0 0 0
EnFHFF v ANTR EDRZ] 0 0 1 1
ENFHFFvANDR [BYDREZE] 0 0 0
ZRIVEIREE 2 0 2 4
REEXS Y Y AHBRREEE 12 15 9 36
HELEELREERES 2 0 2
BREIVEILEEER 4 1 2 7
REREXS Ty XHEN)—FE2IVE 11 1 2 14
=B IX L EE =S KA 3 0 3
L RRGREELHE 2 1 3
513 Y SNEAR [ER¥: v XEZME] 0 0 0
5 5 Y > SERE [TED KR HE ] 0 0 0
JXyXH—FTUHBEEER (i) 1 2 0 3
MNCHEBEREER 2 1 3
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